Homework 3

Daniel F. Spulber
Global Competitive Strategy
1. 
A domestic producer in Country A with market power has traditionally sold a stamping machine for $60.  A new competitor in Country B is able to offer customers a similar stamping machine at an ex works price of $40. Country A imposes a specific tariff equal to $11.  Other than the tariff, the costs of trade equal $5.  Which one of the following situations will occur?

a. 
The domestic price of the stamping machine will not change.
b.
The domestic price of the stamping machine will fall to $40.

c.
The domestic price of the stamping machine will fall to $45.

d.
The domestic price of the stamping machine will fall to $51.

e.
The domestic price of the stamping machine will fall to $56.

2.
An international business is contemplating whether to outsource its customer service call centers to a customer service provider located in Singapore or to provide the services in-house through its customer service division.  Obtaining the service through outsourcing will entail a payment to the outside provider equal to $80,000 per call center.  Dealing with the company in Singapore requires a one-time expenditure of transaction costs equal to $250,000. Performing the service in-house requires a cost per call center of $120,000.  At least how many call centers are needed to make outsourcing desirable?


a.
1


b.
3


c.
5


d.
7


e.
9

3.
Megacorp is trying to decide on a platform strategy for its software.  The company can offer distinct software products at a development cost of $60 million per product. Alternatively, Megacorp could establish a basic software platform at a cost of $200 million. Then, Megacorp could create different software products by varying the basic platform at a cost of $25 million.  What is the minimum number of software products would Megacorp have to create to make its platform strategy profitable?


a.
2

b.
4

c.
6

d.
8

e.
10
4.
Let K represent the level of foreign direct investment (FDI) and let V(K) represent the expected net cash flow that will be available one year after making the investment. Suppose that the (annual) risk-adjusted discount rate for investing in Country A is 20%. Find the level of foreign direct investment that maximizes the net present value of cash flow (NPV).

	K (level of FDI)
	V(K)
	V(K)/(1 + r)
	NPV

	49
	168
	
	

	64
	192
	
	

	81
	216
	
	

	100
	240
	
	

	121
	264
	
	


a. 49

b. 64

c. 81

d. 100

e. 121

5.
Consider an international business that is considering a foreign direct investment project in Country A. The project has an expected net cash flow equal to 

V(K) = 8K – (1/5)K2 after one year.  The level of FDI is K.. The annual risk-adjusted discount rate is  r = 0.25.  What level of foreign direct investment maximizes net present value?   

	K (level of FDI)
	V(K)
	V(K)/(1 + r)
	NPV

	5
	
	
	

	10
	
	
	

	15
	
	
	

	20
	
	
	

	25
	
	
	



a.
  5


b.
10


c.
15


d.
20


e.
25

6.  
Apply NPV analysis to choose the best target country for FDI.

Country A: The investment cost is $25 and the investment yields an expected net cash flow of $600 with a risk-adjusted discount rate of 20%.

Country X: The investment cost is $36 and the investment yields an expected net cash flow of $780 with a risk-adjusted discount rate of 30%.

a. Country A

b. Country X

7.  Which one of the following types of international export intermediaries primarily represents the buyer?

e. Export marketing company

e. Hybrid import-export company

e. Export trading company

e. Manufacturer piggy-back arrangements

e. International wholesaler
8.
Global Brew must decide on whether to produce one or two types of beer.

Option 1. Produce two types of beer.  Global Brew produces an upscale beer for sale in Country A and a mass-market beer for sale in Country X.  Global Brew can sell the 60 units of the upscale beer in Country A at a price pf $12 and it can sell 75 units of the mass market beer in Country X at a price of $8.

Option 2. Produce one type of beer.  Global Brew a mass-market beer for sale in both Country A and Country X.  Global Brew can sell the 50 units of the mass-market beer in Country A at a price of $8 and it can sell 75 units of the mass market beer in Country X at a price of $8.

Global Brew produces all of its beer in its home country. The upscale beer and the mass market beer must be produced separately.  The cost function for any type of beer are given by the following schedule.

	Units of beer
	Cost per unit

	50
	7

	60
	6

	75
	5

	110
	4.5

	125
	4

	135
	3.8



a.
Option 1


b.
Option 2
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